. FE #3558 (2B) Tube Fitting (Black)
pE

0 st o

J = 3 EohE FRILE
2-0P PX4-M5 35 | M5X0.8| 10 | 38.2 2
2:0D PX4-01 4 8 7 PT1/8 | 10 | 39.9 | 9.6 2
= e PX4-02 96 | PT1/4 | 14 43 2
’% PX6-M5 35 |M5X0.8 | 12 | 412 2
| | PX6-01 6 0 7 PT1/8 | 12 | 434 123 45
| | PX6-02 96 | PT1/4 | 14 46 45
PX6-03 96 | PT3/8 | 17 46 45
PX8-01 7 PT1/8 | 15 | 54.8 5
@ PX8-02 8 136 | 96 | PT1/4 | 15 | 574 | 16 | 6.2
OH PX8-03 96 | PT3/8 | 17 | 56.4 6.2
]/ PX10-02 96 | PT1/4 | 19 | 629 8
[ :[]: PX10-03 10 | 167 | 96 | PT3/8 | 19 | 629 | 193 | 8
< PX10-04 12 | PT1/2 | 21 | 653 8
| N PX12-02 96 | PT1/4 | 21 73 8
' R PX12-03 12 [ 196 | 96 | PT3/8 | 21 73 [ 221 | 10
PX12-04 12 | PT12 | 21 | 745 10
< B,
R
Metric thread type
AFIFEI
PX< EQt
NI BranchY
=eEe:,......
J B R EIME TREFLE
2-0P PX4-M5-NI 35 | M5X0.8 | 10 |37.9 2
2:0D0 PX4-01-NI 4 8 7 PT1/8 | 10 | 396 | 96 2
e | ey PX4-02-NI 96 | PT1/4 | 14 | 427 2
’E PX6-M5-NI 35 |M5X0.8 | 12 | 407 2
| | PX6-01-NI 7 PT1/8 | 12 | 429 45
| | PX6-02-NI 6 10 96 | pria | 12 |455 | > [4s
PX6-03-NI 96 | PT3/8 | 17 | 455 45
PX8-01-NI 7 PT1/8 | 15 | 538 5
@ PX8-02-NI 8 136 | 96 | PT1/4 | 15 | 564 | 16 6.2
oH PX8-03-NI 96 | PT3/8 | 17 | 554 6.2
]/ PX10-02-NI 96 | PT1/4 | 19 | 619 8
[ :[]: PX10-03-NI [ 10 |167 | 96 | PT3/8 | 19 |61.9 | 19.3 8
< PX10-04-NI 12 | PT12 | 21 | 643 8
| N PX12-02-NI 96 | PT1/4 | 21 | 714 8
' R PX12-03-NI | 12 | 196 | 96 | PT3/8 | 21 | 714 | 221 10
PX12-04-NI 12 | PT12 | 21 | 729 10
S =N
Metric thread type
AFIFEI

NI: £EIREHER

NI:Release Ring (Metallic Body)




FEHEIETA (B) Tube Fitting (Ivory)

I Y EY

=ee.... ..

2-gP LT B FRILE
2-9D PX4-M5-W 35 | M5x0.8 | 10 | 382 | 9.6 2
| =y PX4-01-W 4 8 7 | PT1/8 | 10 | 399 | 96 2
- = 5 = PX4-02-W 96 | PT1/4 | 14 43 | 96 2
1 PX6-M5-W 35 | M5x0.8 | 12 | 412 [ 123 | 2
| | PX6-01-W 7 | PT1/8 | 12 | 434 | 123 | 45
PX6-02-W 6 10 | 96 | PT1/4 | 14 46 [ 123 | 45
PX6-03-W 96 | PT3/8 | 17 46 [ 123 | 45
@ PX8-01-W 7 | PT1/8 | 15 | 548 | 16 5
CH PX8-02-W 8 136 | 96 | PT1/4 | 15 | 574 | 16 | 62
]/ PX8-03-W 96 | PT3/8 | 17 | 564 | 16 | 6.2
[ :[]: PX10-02-W 96 | PT1/4 | 19 | 629 [ 193 | 8
< PX10-03W | 10 |16-7 | 96 | PT3/8 | 19 | 629 [ 193 | 8
| N PX10-04-W 12 PT1/2 21 65.3 | 19.3 8
' R PX12-02-W 96 | PT1/4 | 21 73 [ 221 | 8
PX12-03-W 12 19.6 9.6 PT3/8 21 73 221 10
PX12-04-W | 12 | pPri2 | 21 [ 745 [221] 10
=N
R
Metric thread type
NEIFEIR
= sEvR
NI BranchY
: [ ros] cns [ cno
2-gP SBE CEEBE B (i1 (Unit): mim
2-9D
=t B K BEIME MBI
$ $ PX4-M5-NI-W 35| M5x0.8 | 10 | 37.9 | 9.6 2
| | PX4-01-NI-\W 4 8 7 | PT1/8 | 10 | 396 | 9.6 2
I I PX4-02-NI-W 96 | PT1/4 | 14 | 427 | 96 2
PX6-M5-NI-W 35 | M5x0.8 | 12 | 407 | 123 | 2
PX6-01-NI-W 6 10 7 | PTU8 | 12 | 429 | 123 | 45
@ PX6-02-NI-W 96 | PT1/4 | 14 | 455 | 123 | 45
of PX6-03-NI-W 96 | PT3/8 | 17 | 455 | 123 | 45
u/ PX8-01-NI-W 7 | PT18 | 15 | 538 | 16 5
[] :[I PX8-02-NI-W 8 136 | 96 | PT1/4 | 15 | 564 | 16 | 6.2
< PX8-03-NI-W 96 | PT3/8 | 17 | 554 | 16 | 6.2
| N PX10-02-NI-\W 96 | PT1/4 | 19 | 619 [ 193 | 8
' R PX10-03-N-'W | 10 | 167 | 96 | PT3/8 | 19 | 619 [ 193 | 8
PX10-04-NI-W 12 | PT12 | 21 | 643 | 193 | 8
<Lﬁ PX12-02-NI-W 96 | PT1/4 | 21 | 714 [ 221 | 8
R PX12-03-NW | 12 | 196 | 96 | PT3/8 | 21 | 714 [224 | 10
Metric thread type PX12-04-NI-W 12 | PT12 | 21 | 729 | 2241 | 10
DNHITFEI

[ 17553 Note JN[RE3 v NI:Release Ring (Metallic Body)






